EMPORIA STATE UNIVERSIT

CONTRACT RENEWAL

Renewal Date: September 13, 2023

Renewal Number: 3

E00048 Contract Number:

Notices To: Vice President for Administration With CC: Purchasing Office

and Finance

Emporia State University

1 Kellogg Circle Campus Box 4001 Emporia, KS 66801

Emporia State University 1 Kellogg Circle Campus Box 4021 Emporia, KS 66801

Emporia State University Purchasing Office Telephone: 620-341-5137

E-Mail Address: purchaseorders@emporia.edu Web Address: http://www.emporia.edu/

Janitorial Supplies & Consultation Services Item:

Emporia State University Agency:

Location(s): Emporia, KS 66801

Term of Contract: October 1, 2023 through September 30, 2025

(with no remaining renewals)

Contractor: Pur-O-Zone, Inc.

Notices to: Mark McFarland, Education Market Director

218 E 2nd Street

Hutchinson, KS 67501

Phone: 844-320-6123 or 620-259-4323

Cell: 316-644-2223

Email: mmcfarland@purozone.com

As set forth in the Pricing Sheets attached to Contract Renewal No. 3 Pricing:

between Emporia State University and Pur-O-Zone, Inc.

Payment Terms: Net 30

Political Subdivisions: Pricing is available to the political subdivisions of the State of Kansas. This Contract Renewal which is made and entered into this 13th day of September, 2023, by and between Emporia State University ("ESU"), a public institution of higher education and State of Kansas agency, located in Emporia, Kansas and Pur-O-Zone, Inc. By this renewal, ESU hereby expressly exercises the third option to renew Contract Number E00048 for **Janitorial Supplies & Consultation Services.** Except for the revised Pricing Sheets attached hereto, all other terms and conditions of Contract E00048 are hereby expressly renewed by the parties for two years, which shall remain in full force and effect until September 30, 2025.

In the event of a conflict of terms in terms of language among the documents, the following order of precedence shall govern: 1) Form ESU-146a; 2) mutually agreed and signed written modifications; 3) this executed contract; 4) Contract No. E00048; 5) any supporting manuals/documents incorporated in the Request and contract; and 6) Contractor's written proposal submitted in response to RFP number 002-18.

IN WITNESS WHEREOF, ESU and Pur-O-Zone, Inc. hereby enter into this Contract Renewal:

Contractor: N Pur-O-Zone, Inc.

Agency:

Emporia State University

By:

By:

Printed Name:

Mack Mitachan

Printed Name:

William McKernan

Title:

Question Market Director

Title:

Executive Director of Facilities

MI I McKenn

The competitive bid/procurement policies applicable to ESU have been followed:

By:

<u> Ashley Brandt</u>

ESU Purchasing

ATTACHMENT I to Contract No. E00048 Manufacturer's Discount Schedule

PRODUCT LINE	MANUFACTURER	<u>DISCOUNT OFF</u> MANUFACTURER'S LIST PRICE
BODY WASH/SHAMPOO		
prolinkhq.com	Pro-Link	30%
gojo.com	GoJo	30%
CARPET CLEANING PRODUCTS		
prolinkhq.com	Pro-Link	25%
DEGREASERS/CLEANERS		
purozone.com	Pur-o-Zone, Inc.	30%
prolinkhq.com	Pro-Link	30%
enviroxclean.com	Envirox	20%
FLOOR CARE PRODUCTS		
purozone.com	Pur-O-Zone, Inc.	25%
ultra-chem-labs-corp.busienss.site	Ultra-Chem	15%
essind.com	Essential	20%
FLOOR MATS		
mattersurfaces.com	Mats Inc.	15%
mamatting.com	M & A Matting	20%
hillyard.com	Gator Matting	20%
FLOOR/HAND PADS		
solutions.3m.com	3M	25%
GENERAL CLEANING EQUIPMENT & R	RELATED ACCESSORIES	
prolinkhq.com	Pro-Link	30%
rubbermaidcommercial.com	Rubbermaid	25%
impact-products.com	Impact Products	25%
ungerglobal.com	Unger	25%
HAND CARE PRODUCTS		
prolinkhq.com	Pro-Link	30%
gojo.com	GoJo	30%
essity.com	Tork	25%
rubbermaidcommercial.com	Rubbermaid	30%
LAUNDRY PRODUCTS		
sunburstchemicals.com	Sunburst	15%
MOPPING EQUIPMENT & RELATED A	CCESSORIES	
rubbermaidcommercial.com	Rubbermaid	25%
impact-products.com	Impact Products	25%
prolinkhq.com	Pro-Link	25%
ungerglobal.com	Unger	25%

ATTACHMENT I to Contract No. E00048 (cont.) Manufacturer's Discount Schedule

ODOR COUNTERACTANTS/AIR FR	RESHNERS	
prolinkhq.com	Pro-Link	30%
POLISHES		
purozone.com	Pur-O-Zone, Inc.	30%
RESTROOM CARE PRODUCTS		
prolinkhq.com	Pro-Link	30%
purozone.com	Pur-O-Zone, Inc.	30%
impact-products.com	Impact Products	25%
SANITIZER/DISINFECTANTS		
purozone.com	Pur-O-Zone, Inc.	30%
enviroxclean.com	Envirox	20%
cloroxpro.com	Clorox	20%
SPECIALTY PRODUCTS (AEROSOLS	S, ICE MELT, SEWER PRODUCTS, ETC.	1
scotwoodindustries.com	Road Runner Ice Melt	25%
prolinkhq.com	Pro-Link Aerosols	30%
purozone.com	Pool & Spa Products	15%
UTILITY/NON-STERILE GLOVES		
hospeco.com	HOSPECO	30%
EQUIPMENT		
advance-us.com	Advance Battery Equipment	15%
advance-us.com	Advance Electric Equipment	20%
nobles.com	Nobles Battery Equipment	15%
nobles.com	Nobles Electric Equipment	20%
hillyard.com	Trident Battery Equipment	15%
hillyard.com	Trident Electric Equipment	20%
tornadovac.com	Tornado Battery Equipment	15%
tornadovac.com	Tornado Electric Equipment	20%
spacevacinternational.com	Space Vac High Up Equipment	10%
makitatool.com	Makita Battery Equipment	25%
hostdry.com	Host/Racine International	5%
proteam.emerson.com	Pro-Team Vacs	30%
tomcatequip.com	Tomcat Battery Equipment	15%
tomcatequip.com	Tomcat Electric Equipment	20%
nacecare.com	Nacecare Battery Equipment	15%
nacecare.com	Nacecare Electric Equipment	20%
kaivac.com	Kaivac Equipment	15%

ATTACHMENT II to Contract No. E00048 Quotation for Janitorial Supplies

ITEM #	COMMODITY DESCRIPTION	<u>U/M</u>	UNIT PRICE
MAGNUM2-05	Magnum Floor Stripper 5 gallon pail	5 GAL	\$ 77.23
MAGNUM2-01	Magnum Floor Stripper 1 gallon	1 GAL	\$ 15.95
LQFC425K	Tersano Aqueous Ozone Generator	Each	\$ 3,050.00
LCA114K	Tersano Filter Module	Each	\$ 250.00
401186	Autoflush Urinal Chrome	Each	\$133.28
KAIBLOOEY-01	Restroom Cleaner 4Gal/Cs	Case	\$ 133.72
KAIDRY-01	Rinse Aid 4Gal/Cs	Case	\$ 155.61
26824	Solaris 1500 sheet roll toilet tissue 18/cs	Case	\$ 43.13
11513	Solaris Facial Tissue 100/box 30boxes/cs	Case	\$ 30.00
HB1995A	Household Roll Towel 250 sht/12 per cs	Case	\$ 33.51
46902	Solaris 1000 Foot Roll Paper Towel 6/cs	Case	\$ 49.38
BTK4348HP	55 Gallon Liner 100/cs	Case	\$ 33.29
BTK3340XMP	33 Gallon Liner 100/cs	Case	\$ 17.05
BSN082424	7-10 Gallon Liner 1000/cs	Case	\$ 32.33
	Equipment Service and Repair Labor Rate	Hour	\$85.00

HILLYARD ESU CONTRACT PRICING 2023 Printed: 9/11/2023

						Gal	Unit	Date
Material	Description	SZ	UOM	D	CS	Price	Price	Eff
HIL0002188	DETERGENT LDRY HD POWDER 40 LB PAIL			N		180.76	180.76	3/1/2023
HIL0014506	CLEANER FLOOR BRITENZ-IT BULK	1	GAL	N	4	33.77	135.08	3/1/2023
HIL0014547	CLEANER FLOOR BRITENZ IT 2/2.5 PER CS	2.5	GAL	N	EA		84.3	3/1/2023
HIL0055206	STRONG GUARD PRIMER	1	GAL	N	4	30.34	121.36	3/1/2023
HIL0055272	STRONG GUARD PRIMER	5	GAL	N	PL	29.79	148.97	3/1/2023
HIL0055435	STRONG GUARD FINISH 1.5 GAL	1.5	GAL	N	EA		137.93	3/1/2023
HIL0084625	ARSENAL 1 QT 5	2.64	GAL		CS	39.65	104.67	3/1/2023
HIL22301	DISPENSER 1 PRODUCT 4 GAL BRIGHT GAP			N	1	145.71	145.71	3/1/2023
HIL22302	KIT DISP PRODUCT 4GPM AND RACK			N		107.14	107.14	3/1/2023
HIL99248	TRIDENT CC17 RECOVERY UNIT			N		834.89	834.89	3/1/2023
HIL99725	DEFCON 2D DEMONSTRATION CART			N		257.14	257.14	3/1/2023
	CLEANERS							
HIL0011006	SUPROX CONCENTRATE	1	GAL		4	25.26	101.04	3/1/2023
HIL0011009	SUPROX CONCENTRATE		GAL		DR		1346.67	
	SUPROX CONCENTRATE		GAL		EA		347.76	
HIL0011028	SUPROX CONCENTRATE	30	GAL		EA		695.52	
HIL0011906	SPRAY CLEAN HD	1	GAL		4	14.13	56.52	3/1/2023
HIL0011909	SPRAY CLEAN HD	55	GAL		DR	13.46	740.14	3/1/2023
HIL0012106	GLASS AND PLASTIC CLEANER	1	GAL		4	10.58	42.32	3/1/2023
HIL0012109	GLASS AND PLASTIC CLEANER	55	GAL		DR	9.76	536.99	3/1/2023
HIL0013206	CLEANER ROBUSTO LAVENDER MULTI-PURPOSE	1	GAL	N	4	10.63	42.52	3/1/2023
HIL0013207	CLEANER ROBUSTO LAVENDER 5 GAL PAIL	5	GAL	N	PL	10.44	52.21	3/1/2023
HIL0013804	WINDO-CLEAN+		QT		12	7.7	92.4	3/1/2023
HIL0013806	WINDO-CLEAN+	1	GAL		4	25.15	100.6	3/1/2023
HIL0013809	WINDO-CLEAN+	55	GAL		DR	24.47	1345.85	3/1/2023
HIL0014004	SUPER SHINE-ALL CLEANER		QT		12	6.28	75.36	3/1/2023
HIL0014006	SUPER SHINE-ALL CLEANER	1	GAL		4	17.88	71.52	3/1/2023
HIL0014007	SUPER SHINE-ALL CLEANER	5	GAL		PL	17.43	87.16	3/1/2023
HIL0014009	SUPER SHINE-ALL CLEANER	55	GAL		DR	17.2	946.27	3/1/2023

HIL0014306	CITRUS-SCRUB	1	GAL		4	31.24	124.96	3/1/2023	
HIL0014307	CITRUS-SCRUB	5	GAL		PL	30.92	154.59	3/1/2023	
HIL0014309	CITRUS-SCRUB	55	GAL		DR	29.41	1617.75	3/1/2023	
HIL0014406	TOP CLEAN	1	GAL		4	8.72	34.88	3/1/2023	
HIL0014407	TOP CLEAN	5	GAL		PL	8.19	40.95	3/1/2023	
HIL0014409	TOP CLEAN	55	GAL		DR	7.93	436.03	3/1/2023	
HIL0015306	ASSURANCE	1	GAL		4	14.69	58.76	3/1/2023	
HIL0015307	ASSURANCE	5	GAL		PL	14.21	71.05	3/1/2023	
HIL0015309	ASSURANCE	55	GAL		DR	13.98	768.71	3/1/2023	
HIL0015328	ASSURANCE	30	GAL		EA		419.3	3/1/2023	
HIL0015606	SUPER GREASE BUSTER	1	GAL		4	17.51	70.04	3/1/2023	
HIL0015607	SUPER GREASE BUSTER	5	GAL		PL	17.04	85.2	3/1/2023	
HIL0015609	SUPER GREASE BUSTER	55	GAL		DR	16.81	924.57	3/1/2023	
HIL0015706	MRD 2 MEAT ROOM DEGREASER	1	GAL		4	11.57	46.28	3/1/2023	
HIL0015707	MRD 2 MEAT ROOM DEGREASER	5	GAL		PL	11.14	55.71	3/1/2023	
HIL0015709	MRD 2 MEAT ROOM DEGREASER	55	GAL		DR	10.92	600.37	3/1/2023	
HIL0015711	MRD 2 MEAT ROOM DEGREASER	275	GAL		TOT	10.77	2963.07	3/1/2023	
HIL0045206	PRE-GAME	1	GAL		4	13.07	52.28	3/1/2023	
HIL0096006	GREEN SELECT GLASS CLEANER	1	GAL		4	13.51	54.04	3/1/2023	
HIL0096606	GREEN SELECT DEGREASER CLEANER	1	GAL		4	20.46	81.84	3/1/2023	
	RESTROOM PRODUCTS								
HIL0009704	HCL-145 TOILET BOWL CLEANER QTS		QT	N	12	3.4	40.8	3/1/2023	
	GERMICIDAL BOWL CLEANER QTS		QT	N	12	3.1	37.2	, ,	
HIL0010206	GERMICIDAL BOWL CLEANER GAL	1	GAL	N	4	11.96	47.84		
HIL0010304	LIGHT ACID BOWL CLEANER QTS		QT	N	12	2.67	32.04	3/1/2023	
HIL0010404	LIQUID SWABBY II BOWL CLEANER QTS		QT	N	12	3	36	3/1/2023	
HIL0010406	LIQUID SWABBY II BOWL CLEANER GAL	1	GAL	N	4	11.73	46.92	3/1/2023	
HIL0010506	SUPROX RESTROOM CLEANER WITH INSERT			N	4	28.67	114.68	3/1/2023	
	CREME CLEAN QTS		QT	N	12	3.69	44.28	3/1/2023	
HIL0010704	M80 BOWL CLEANER QTS		QT	N	12	3.01	36.12	3/1/2023	
	SUPROX READY-TO-USE	_		N	4	19	76	3/1/2023	
	THICKENED NON ACID BATHROOM CLEANER QTS			N	12	3.27	39.24		
	MILD BOWL AND PORCELAIN CLEANER QTS		QT	N	12	4.01	48.12	3/1/2023	
	MILD BOWL AND PORCELAIN CLEANER 15GAL PL			N		16.89	253.31		
HIL0012504	EXTRA STRENGTH CSP CLEANER		QT		12	7.02	84.24	3/1/2023	

	EVERA CERENICELL COR OLEANIER	4.04		40.40	70.00	0 /4 /0000
	EXTRA STRENGTH CSP CLEANER	1 GAL	4	18.48		3/1/2023
	CITRIC EXTRA STRENGTH CSP CLEANER	QT	12	6.33	75.96	3/1/2023
	AFRC ACID FREE RESTROOM CLEANER	1 GAL	4	11.46	45.84	3/1/2023
	AFRC ACID FREE RESTROOM CLEANER	55 GAL	DR	10.77	592.38	3/1/2023
	AFRC ACID FREE RESTROOM CLEANER	15 GAL	PL	10.77	161.6	3/1/2023
	SHOWER ROOM CLEANER	1 GAL	4	17.91	71.64	3/1/2023
	CITRIC SHOWER FOAM	1 GAL	4	21.99	87.96	3/1/2023
	SHOWER FOAM	1 GAL	4	23.44	93.76	3/1/2023
	SHOWER FOAM	5 GAL	PL	22.99	114.96	
HIL0017409	SHOWER FOAM	55 GAL	DR		1251.94	3/1/2023
	NON-ACID RESTROOM DISINFECTANT CLEANER	1 GAL	4	22.77	91.08	3/1/2023
	TILE AND GROUT CLEANER/RENOVATOR	QT	12	4.13	49.56	
HIL0047506	TILE AND GROUT CLEANER/RENOVATOR	1 GAL	4	12.68	50.72	3/1/2023
HIL0047706	MARINER	1 GAL	4	27.17	108.68	3/1/2023
HIL0096206	GREEN SELECT BATHROOM CLEANER	1 GAL	4	26.78	107.12	3/1/2023
	DISINFECTANTS					
HIL0012906	SANITIZER H-129	1 GAL	4	23.79	95.16	3/1/2023
HIL0012909	SANITIZER H-129	55 GAL	DR	23.02	1265.87	
HIL0016006	VET AND KENNEL DISINFECTANT	1 GAL	4	23.14	92.56	3/1/2023
HIL0016009	VET AND KENNEL DISINFECTANT	55 GAL	DR	22.3	1226.66	3/1/2023
HIL0016106	SUPROX-D	1 GAL	4	29.45	117.8	3/1/2023
HIL0016109	SUPROX-D	55 GAL	DR	28.73	1579.92	3/1/2023
HIL0016606	RE-JUV-NAL DISINFECTANT	1 GAL	4	16.79	67.16	3/1/2023
HIL0016607	RE-JUV-NAL DISINFECTANT	5 GAL	PL	16.32	81.62	3/1/2023
HIL0016609	RE-JUV-NAL DISINFECTANT	55 GAL	DR	16.1	885.31	3/1/2023
HIL0016706	Q.T. DISINFECTANT CLEANER	1 GAL	4	19.25	77	3/1/2023
HIL0016707	Q.T. DISINFECTANT CLEANER	5 GAL	PL	18.8	93.99	3/1/2023
HIL0016709	Q.T. DISINFECTANT CLEANER	55 GAL	DR	18.57	1021.36	3/1/2023
HIL0016806	VINDICATOR + DISINFECTANT	1 GAL	4	27.59	110.36	3/1/2023
HIL0016906	DISINFECTANT QT PLUS	1 GAL	4	36.41	145.64	3/1/2023
HIL0016909	DISINFECTANT QT PLUS	55 GAL	DR	25.4	1397.15	3/1/2023
HIL0017906	HILLYARD LEMON DISINFECTANT	1 GAL	4	13.19	52.76	3/1/2023
HIL0017907	HILLYARD LEMON DISINFECTANT	5 GAL	PL	12.72	63.61	3/1/2023
HIL0017909	HILLYARD LEMON DISINFECTANT	55 GAL	DR	12.49	687.16	3/1/2023
HIL0018506	PINE-O-CIDE II DISINFECTANT	1 GAL	4	20.63	82.52	3/1/2023

HIL0018509	PINE-O-CIDE II DISINFECTANT	55 GAL	DR	19.93	1096.26	3/1/2023
HIL0040606	SANITIZER H-129 GALLON WITH INSERT	1 GAL	4	26.06	104.24	3/1/2023
HIL0091906	SOFT SURFACE SANITIZER	1 GAL	4	26.81	107.24	3/1/2023
	STRIPPERS					
HIL0014706	DEVASTATOR	1 GAL	4	25.65	102.6	3/1/2023
HIL0014707	DEVASTATOR	5 GAL	PL	25.21	126.03	3/1/2023
HIL0014709	DEVASTATOR	55 GAL	DR	24.97	1373.57	3/1/2023
HIL0014906	ASSAULT STRIPPER	1 GAL	4	22.71	90.84	3/1/2023
HIL0014907	ASSAULT STRIPPER	5 GAL	PL	22.25	111.27	3/1/2023
HIL0014909	ASSAULT STRIPPER	55 GAL	DR	22.02	1211.34	3/1/2023
HIL0015006	POWER STRIP	4 GAL	CS		45.51	3/1/2023
HIL0015007	POWER STRIP	5 GAL	PL	10.85	54.25	3/1/2023
HIL0015009	POWER STRIP	55 GAL	DR	10.58	582.01	3/1/2023
HIL0015206	SUPER STRIP	4 GAL	CS		69.8	3/1/2023
HIL0015207	SUPER STRIP	5 GAL	PL	16.95	84.76	3/1/2023
HIL0015209	SUPER STRIP	55 GAL	DR	16.71	919.21	3/1/2023
HIL0096406	GREEN SELECT STRIPPER	1 GAL	4	25.05	100.2	3/1/2023
HIL0096407	GREEN SELECT STRIPPER	5 GAL	PL	24.6	122.98	3/1/2023
	SEAL & FINISH					
HIL0033806	TERRAZZINE	1 GAL	4	24.27		3/1/2023
	TERRAZZINE	5 GAL	PL	23.8		3/1/2023
HIL0034006		1 GAL	4	22.26	89.04	
HIL0034007		5 GAL	PL	21.76		3/1/2023
HIL0034009		55 GAL	DR	21.52		
HIL0034106		1 GAL	4	26.54	106.16	3/1/2023
HIL0034107		5 GAL	PL	26.08	130.39	
HIL0034109		55 GAL	DR		1421.54	
	HIL-TEX+ SEALER	1 GAL	N 4	19.33	77.32	
	HIL-TEX+ SEALER	5 GAL	N PL	18.76		3/1/2023
	HIL-TEX+ SEALER	55 GAL	N DR		1016.31	
	STRONG GUARD SEAL	1 GAL	4	28.84	115.36	
	CONCRETE SEAL MEDIUM TRAFFIC MT	1 GAL	N 4	64.43	257.72	
HIL0049207	CONCRETE SEAL MEDIUM TRAFFIC MT	5 GAL	N PL	63.88	319.39	3/1/2023

HIL0049306	CONCRETE SEAL HEAVY TRAFFIC-CLEAR HTC	1 GAL	N 1	116.31	116.31	3/1/2023
HIL0049307	CONCRETE SEAL HEAVY TRAFFIC-CLEAR HTC	5 GAL	N PL	115.74	578.71	3/1/2023
HIL0049906	CONCRETE DEFENSE LT	1 GAL	N 4	49.29	197.16	3/1/2023
HIL0049907	CONCRETE DEFENSE LT	5 GAL	N PL	48.72	243.6	3/1/2023
HIL0050006	CONCRETE SEAL HEAVY TRAFFIC-GRAY HTG	1 GAL	N 1	126.29	126.29	3/1/2023
HIL0050007	CONCRETE SEAL HEAVY TRAFFIC-GRAY HTG	5 GAL	N PL	125.73	628.63	3/1/2023
HIL0050106	CONCRETE PRIMER	1 GAL	N 4	50.49	201.96	3/1/2023
HIL0050107	CONCRETE PRIMER	5 GAL	N PL	49.91	249.57	3/1/2023
HIL0051906	RESILIENCE NEW AND IMPROVED	1 GAL	4	22.12	88.48	3/1/2023
HIL0051907	RESILIENCE NEW AND IMPROVED	5 GAL	PL	21.67	108.37	3/1/2023
HIL0052206	TOP SHAPE	1 GAL	N 4	18.07	72.28	3/1/2023
HIL0052207	TOP SHAPE	5 GAL	N PL	17.51	87.53	3/1/2023
HIL0052209	TOP SHAPE	55 GAL	N DR	17.22	947.07	3/1/2023
HIL0052406	DISCOVERY 20	1 GAL	N 4	20.27	81.08	3/1/2023
HIL0052407	DISCOVERY 20	5 GAL	N PL	19.72	98.6	3/1/2023
HIL0052409	DISCOVERY 20	55 GAL	N DR	18.98	1043.94	3/1/2023
HIL0052506	ENDEAVOUR	1 GAL	4	24.56	98.24	3/1/2023
HIL0052507	ENDEAVOUR	5 GAL	PL	24.11	120.56	3/1/2023
HIL0052509	ENDEAVOUR	55 GAL	DR	23.89	1313.74	3/1/2023
HIL0052706	ONE PLUS ZINC FREE FINISH	1 GAL	4	23.82	95.28	3/1/2023
HIL0052707	ONE PLUS ZINC FREE FINISH	5 GAL	PL	23.36	116.79	3/1/2023
HIL0052709	ONE PLUS ZINC FREE FINISH	55 GAL	DR	23.15	1273.03	3/1/2023
HIL0052806	NORTH STAR	1 GAL	4	27.05	108.2	3/1/2023
HIL0052807	NORTH STAR	5 GAL	PL	26.58	132.92	3/1/2023
HIL0052809	NORTH STAR	55 GAL	DR	26.36	1449.64	3/1/2023
HIL0053206	EXPEDITER	1 GAL	4	27.82	111.28	3/1/2023
HIL0053207	EXPEDITER	5 GAL	PL	27.31	136.54	3/1/2023
HIL0053209		55 GAL	DR	27.05	1488.01	3/1/2023
HIL0053406	EXPLORER	1 GAL	4	22.12	88.48	3/1/2023
HIL0053407	EXPLORER	5 GAL	PL	21.61	108.06	3/1/2023
HIL0053409	EXPLORER	55 GAL	DR	21.37	1175.3	3/1/2023
HIL0053606	NAVIGATOR	1 GAL	4	22.66	90.64	3/1/2023
HIL0053607	NAVIGATOR	5 GAL	PL	22.22	111.1	3/1/2023
HIL0053609	NAVIGATOR	55 GAL	DR	21.99	1209.4	3/1/2023
HIL0054106	SATIN FLOOR FINISH	1 GAL	N 4	34.94	139.76	3/1/2023
HIL0055106		1 GAL	4	27.72	110.88	3/1/2023
HIL0055107	EP-22	5 GAL	PL	27.27	136.34	3/1/2023

HIL0055109	EP-22	55 GAL	DR	27.04	1487.15	3/1/2023
HIL0055306	EQUALIZER NEW AND IMPROVED	1 GAL	4	35.15	140.6	3/1/2023
HIL0055307	EQUALIZER NEW AND IMPROVED	5 GAL	PL	34.68	173.39	3/1/2023
HIL0055309	EQUALIZER NEW AND IMPROVED	55 GAL	DR	34.45	1894.89	3/1/2023
HIL50110	MULTI FLO XP FLOOR FINISH COMPLETE		N	1244.9	1244.9	3/1/2023
	RESTORERS					
LULOOF330C	LIII CLO	1.64		10.1	70.4	2/1/2022
HIL0053306		1 GAL	4	19.1		3/1/2023
HIL0053804		QT	12	7.51	90.12	
HIL0053806		1 GAL	4	20.77	83.08	
HIL0053904		QT	12	8.18	98.16	
HIL0053906		1 GAL	4	20.29	81.16	
HIL0053907		5 GAL	PL	19.84		3/1/2023
HIL0053909	RESTORER	55 GAL	DR	19.62	10/8.95	3/1/2023
	CARPET					
	CARPET					
HIL0018304	DEFOAMER II	QT	12	7.14	85.68	3/1/2023
HIL0018306	DEFOAMER II	1 GAL	4	23.42	93.68	3/1/2023
HIL0090069	CARPET SPOTTING KIT	1.75 GAL	N EA		90.24	3/1/2023
HIL0090206	CLEAN ACTION II	1 GAL	4	17.87	71.48	3/1/2023
HIL0090207	CLEAN ACTION II	5 GAL	PL	17.4	87	3/1/2023
HIL0090209	CLEAN ACTION II	55 GAL	DR	17.17	944.58	3/1/2023
HIL0090506	CLEAN RELEASE	1 GAL	4	21.45	85.8	3/1/2023
HIL0090704	CARPET DEBROWNER II	QT	12	6.77	81.24	3/1/2023
HIL0090904	CARPET SPOTTER GEL	QT	12	6	72	3/1/2023
HIL0091004	CARPET SPOTTER	QT	12	5.45	65.4	3/1/2023
HIL0091006	CARPET SPOTTER	1 GAL	4	13.27	53.08	3/1/2023
HIL0091104	RUST SPOTTER GEL	QT	12	7.16	85.92	3/1/2023
HIL0091204	LIQUID GUM-GO	QT	12	17.16	205.92	3/1/2023
HIL0091406	HD EXTRACTION	1 GAL	4	19.63	78.52	3/1/2023
HIL0091409	HD EXTRACTION	55 GAL	DR	18.94	1041.85	3/1/2023
HIL0091606	CARPET ANTI-STAT	1 GAL	N 4	16.61	66.44	3/1/2023
HIL0091609	CARPET ANTI-STAT	55 GAL	N DR	15.79	868.21	3/1/2023
HIL0091806	DEEP ACTION	1 GAL	4	24.04	96.16	3/1/2023
HIL0091807	DEEP ACTION	5 GAL	PL	23.6	117.98	3/1/2023

HIL0091809	DEEP ACTION	55 GAL	DR	23.37	1285.25	3/1/2023
HIL0092106	DEEP ACTION UNSCENTED	1 GAL	4	18.36		3/1/2023
HIL0092206	CLEAN ACTION II UNSCENTED	1 GAL	4	18.19	72.76	3/1/2023
HIL0092706	SOIL-STOP	1 GAL	4	65.74		3/1/2023
HIL0093006	EXTRACTION PH RINSE	1 GAL	4	24.33	97.32	3/1/2023
HIL0093285	DOUBLE DOWN CARPET SPOTTER 6/32OZ	CS	6		96.06	3/1/2023
HIL0096506	CARPET PRE-SPRAY	1 GAL	4	16.36	65.44	3/1/2023
HIL0104069	DOUBLE DOWN STARTER KIT W TRIGGER HEAD	GAL	N		75.59	3/1/2023
HIL0104070	DOUBLE DOWN REFILL CARTRIDGES		N 8	11.4	91.2	3/1/2023
	ARSENAL I					
HII 000012E	ARSENAL 1 ASSURANCE	0.66.041	4	27.82	111 20	2/1/2022
	ARSENAL 1 WINDO-CLEAN+	0.66 GAL	4	25.69		3/1/2023
	ARSENAL 1 HARMONY AIR FRESHENER	0.66 GAL 0.66 GAL	4	26.65		3/1/2023 3/1/2023
	ARSENAL 1 COUNTRY GARDEN AIR FRESHENER	0.66 GAL	4	26.34		3/1/2023
	ARSENAL 1 RESTROOM CLEANER	0.66 GAL	4	22.2		3/1/2023
	ARSENAL 1 VINDICATOR+	0.66 GAL	4	31.44		3/1/2023
	ARSENAL 1 CLEAN ACTION II	0.66 GAL	4	17.11		3/1/2023
	ARSENAL 1 SUPER SHINE-ALL	0.66 GAL	4	23.05		3/1/2023
	ARSENAL 1 HEAVY DUTY FLOOR CLEANER	0.66 GAL	4	25.77		3/1/2023
HIL0081025	ARSENAL 1 TOP CLEAN	0.66 GAL	4	29.1		3/1/2023
HIL0081125	ARSENAL 1 RESTROOM CLEANER DISINFECTANT	0.66 GAL	4	25.86		3/1/2023
HIL0081325	ARSENAL 1 BONNET CLEANER	0.66 GAL	4	26.92		3/1/2023
HIL0081425	ARSENAL 1 CARPET PRE-SPRAY	0.66 GAL	4	25.32	101.28	3/1/2023
HIL0081525	ARSENAL 1 CARPET SPOTTER	0.66 GAL	4	24.64	98.56	3/1/2023
HIL0081625	ARSENAL 1 RE-JUV-NAL	0.66 GAL	4	16.08	64.32	3/1/2023
HIL0081825	ARSENAL 1 NEUTRALIZER	0.66 GAL	4	31.77	127.08	3/1/2023
HIL0081925	ARSENAL 1 NON-ACID RR DISINFEC CLNR	0.66 GAL	4	16.34	65.36	3/1/2023
HIL0082125	ARSENAL 1 TYPHOON	0.66 GAL	4	30.49	121.96	3/1/2023
HIL0082225	ARSENAL 1 CITRUS-SCRUB	0.66 GAL	4	32.01	128.04	3/1/2023
HIL0082325	ARSENAL 1 RESTORER	0.66 GAL	4	20.6	82.4	3/1/2023
HIL0082425	ARSENAL 1 Q.T. PLUS	0.66 GAL	4	26.06	104.24	3/1/2023
HIL0082525	ARSENAL 1 SANITIZER	0.66 GAL	4	19.05		3/1/2023
HIL0082725	ARSENAL 1 GREEN SELECT GLASS CLEANER	0.66 GAL	4	21.14	84.56	3/1/2023
	ARSENAL 1 GREEN SELECT DEGREASER CLNR	0.66 GAL	4	21.49	85.96	-,-,-
HIL0082925	ARSENAL 1 GREEN SELECT BATHROOM CLEANER	0.66 GAL	4	19.58	78.32	3/1/2023

HIL0083225	ARSENAL 1 SUPROX-D	0.66 GAL	4	25.26	101.04	3/1/2023
HIL0083425	ARSENAL 1 RECOAT PREP	0.66 GAL	4	22.49	89.96	3/1/2023
HIL0083525	ARSENAL 1 CARPET PH RINSE	0.66 GAL	4	23.22	92.88	
HIL0083725	ARSENAL 1 SUPROX HEAVY DUTY	0.66 GAL	4	22.49	89.96	3/1/2023
HIL0083825	ARSENAL 1 SUPROX-MULTI PURPOSE CLEANER	0.66 GAL	4	22.49	89.96	3/1/2023
HIL0083925	ARSENAL 1 SUPROX-FLOOR & GLASS CLEANER	0.66 GAL	4	22.49	89.96	-, -,
HIL0084025	ARSENAL 1 DEGREASER HEAVY DUTY	0.66 GAL	4	22.12	88.48	3/1/2023
HIL0084125	ARSENAL 1 DEGREASER LIGHT DUTY	0.66 GAL	4	22.12	88.48	, ,
HIL0084225	ARSENAL 1 ROBUSTO	0.66 GAL	4	22.49	89.96	3/1/2023
HIL0084325	ARSENAL 1 QT 3 DISINFECTANT	0.66 GAL	4	63.7	254.8	3/1/2023
HIL0084425	ARSENAL 1 CLEAN SCRUB HD	0.66 GAL	4	30.52	122.08	3/1/2023
HIL0182025	ARSENAL 1 SPRAY CLEAN HD	0.66 GAL	4	45.68	182.72	3/1/2023
	ARSENAL QT/BUDDY JUG					
HIL0080104	ARSENAL ASSURANCE HD SPRAY & WIPE CL	QT	12	6.23	74.76	3/1/2023
	ARSENAL WINDO-CLEAN+	QT	12	7.79	93.48	
	ARSENAL HARMONY AIR FRESHENER	QT	12	7.21	86.52	
HIL0080404	ARSENAL COUNTRY GARDEN AIR FRESHENER	QT	12	7	84	
HIL0080504	ARSENAL RESTROOM CLEANER	QT	12	7.64	91.68	
HIL0081117	ARSENAL RESTROOM CLNR/DISINFECT 20 OZ	CS	12	7.05	84.6	3/1/2023
HIL0081404	ARSENAL CARPET PRE-SPRAY	QT	12	6.8	81.6	3/1/2023
	ARSENAL PACKETS					
HIL0080191	ARSENAL ASSURANCE HD SPRAY & WIPE CL	CS			58.95	3/1/2023
HIL0080291	ARSENAL WINDO-CLEAN+ 1.5 OZ POUCH	CS			58.6	
HIL0080491	ARSENAL COUNTRY GARDEN AIR FRESHENER	CS			56.02	3/1/2023
	ARSENAL RESTROOM CLNR 1.5 OZ POUCH 72/CS	CS			84.86	
HIL0080689	ARSENAL VINDICATOR+ 1 OZ POUCH 72/CS	CS			52.53	
HIL0080695	ARSENAL VINDICATOR+ 2.5 OZ POUCH 54/CS	CS	CS		72.67	
HIL0080892	ARSENAL SUPER SHINE-ALL 2 OZ POUCH 72/CS	CS	CS		57.27	
	ARSENAL SUPER SHINE-ALL 4 OZ POUCH 36/CS	CS	cs		49.94	
	ARSENAL HD FLOOR CLEANER 2 OZ POUCH	CS	CS		62.36	
HIL0080994	ARSENAL HD FLOOR CLEANER 4 OZ POUCH 36/C	CS	CS		57.04	
HIL0081089	ARSENAL TOP CLEAN 1 OZ POUCH 72/CS	CS			50.19	
HIL0081092	ARSENAL TOP CLEAN 2 OZ POUCH 72/CS	CS	CS		65.66	3/1/2023
	-					_

HIL0081689 HIL0081694 HIL0081894	ARSENAL LEMON DISINFECTANT 1 OZ POUCH ARSENAL RE-JUV-NAL 1 OZ POUCH 72/CS ARSENAL RE-JUV-NAL 4 OZ POUCH 36/CS ARSENAL NEUT CARPT RINSE 4 OZ POUCH 36/C ARSENAL NON-ACID RR DIS CLNR 1 OZ 72/CS	ය ය ය ය	CS CS		46.98 50.32 68.93	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
	ARSENAL II					
HIL0080909	ARSENAL HEAVY DUTY FLOOR CLEANER	55 GAL	DR	39.25	2158.49	3/1/2023
HIL0082607	ARSENAL STRIPPER	5 GAL	PL	31.08	155.38	3/1/2023
HIL0082609	ARSENAL STRIPPER	55 GAL	DR	34.69	1907.73	3/1/2023
HIL0082629	ARSENAL STRIPPER 1/2 GAL-6/CS	6 Per	CS		160.99	3/1/2023
	ARSENAL GREEN SELECT					
HIL0082791	ARSENAL GREEN SELECT GLASS CLNR 1.5 OZ	CS			56.21	3/1/2023
HIL0082904	ARSENAL GREEN SELECT BATHROOM CLEANER	QT	12	7.54	90.48	3/1/2023
HIL0182889	ARSENAL GREEN SELECT DEGR CLNR 10Z 72 CS	CS			52.01	3/1/2023
	ENZYMES/ODOR CONTROL					
HIL0018604	LEMON ODOR COUNTERACTANT	QT	12	6.02	72.24	3/1/2023
	LEMON ODOR COUNTERACTANT LEMON ODOR COUNTERACTANT	QT 1 GAL	12 4	6.02 23.67	94.68	3/1/2023
HIL0018606		-			94.68 76.68	3/1/2023 3/1/2023
HIL0018606 HIL0018704	LEMON ODOR COUNTERACTANT	1 GAL	4	23.67	94.68 76.68 91.6	3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018706 HIL0018806	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER	1 GAL QT	4 12	23.67 6.39	94.68 76.68 91.6	3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018706 HIL0018806 HIL0046604	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY	1 GAL QT 1 GAL 1 GAL QT	4 12 4 4 12	23.67 6.39 22.9 22.43 8.75	94.68 76.68 91.6 89.72 105	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018706 HIL0018806 HIL0046604 HIL0046606	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY	1 GAL QT 1 GAL 1 GAL QT 1 GAL	4 12 4 4 12 4	23.67 6.39 22.9 22.43 8.75 23.91	94.68 76.68 91.6 89.72 105 95.64	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018706 HIL0018806 HIL0046604 HIL0046606 HIL0046704	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE	1 GAL QT 1 GAL 1 GAL QT 1 GAL QT	4 12 4 4 12 4	23.67 6.39 22.9 22.43 8.75 23.91 8.76	94.68 76.68 91.6 89.72 105 95.64 105.12	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018706 HIL0018806 HIL0046604 HIL0046704 HIL0046706	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE TAKE DOWN GREEN APPLE	1 GAL QT 1 GAL 1 GAL QT 1 GAL QT 1 GAL	4 12 4 4 12 4 12 4	23.67 6.39 22.9 22.43 8.75 23.91 8.76 23.67	94.68 76.68 91.6 89.72 105 95.64 105.12 94.68	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018806 HIL0046604 HIL0046704 HIL0046706 HIL0046804	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE TAKE DOWN GREEN APPLE TAKE DOWN FRESH & CLEAN	1 GAL QT 1 GAL 1 GAL QT 1 GAL QT 1 GAL QT 1 GAL	4 12 4 4 12 4 12 4	23.67 6.39 22.9 22.43 8.75 23.91 8.76 23.67 8.72	94.68 76.68 91.6 89.72 105 95.64 105.12 94.68 104.64	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018806 HIL0046604 HIL0046704 HIL0046706 HIL0046804 HIL0046804	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE TAKE DOWN GREEN APPLE TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN	1 GAL QT 1 GAL 1 GAL QT 1 GAL QT 1 GAL QT 1 GAL QT 1 GAL	4 12 4 4 12 4 12 4 12 4	23.67 6.39 22.9 22.43 8.75 23.91 8.76 23.67 8.72 23.33	94.68 76.68 91.6 89.72 105 95.64 105.12 94.68 104.64 93.32	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018806 HIL0046604 HIL0046704 HIL0046706 HIL0046804 HIL0046806 HIL0046806	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE TAKE DOWN GREEN APPLE TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN	1 GAL QT 1 GAL	4 12 4 4 12 4 12 4 12 4 DR	23.67 6.39 22.9 22.43 8.75 23.91 8.76 23.67 8.72 23.33 22.65	94.68 76.68 91.6 89.72 105 95.64 105.12 94.68 104.64 93.32 1245.53	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018704 HIL0018806 HIL0046604 HIL0046704 HIL0046706 HIL0046804 HIL0046809 HIL0046809	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE TAKE DOWN GREEN APPLE TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN LIQUID TRAP SHOOTER	1 GAL QT 1 GAL	4 12 4 4 12 4 12 4 12 4 DR	23.67 6.39 22.9 22.43 8.75 23.91 8.76 23.67 8.72 23.33 22.65 19.66	94.68 76.68 91.6 89.72 105 95.64 105.12 94.68 104.64 93.32 1245.53 78.64	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018706 HIL0018806 HIL0046604 HIL0046704 HIL0046706 HIL0046804 HIL0046809 HIL0046906 HIL0046906	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE TAKE DOWN GREEN APPLE TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN LIQUID TRAP SHOOTER LIQUID TRAP SHOOTER	1 GAL QT 1 GAL 1 GAL QT 1 GAL 55 GAL 5 GAL	4 12 4 4 12 4 12 4 12 4 DR PL	23.67 6.39 22.9 22.43 8.75 23.91 8.76 23.67 8.72 23.33 22.65 19.66 19.21	94.68 76.68 91.6 89.72 105 95.64 105.12 94.68 104.64 93.32 1245.53 78.64 96.06	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023
HIL0018606 HIL0018706 HIL0018806 HIL0046604 HIL0046704 HIL0046706 HIL0046804 HIL0046806 HIL0046809 HIL0046907 HIL0046907	LEMON ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HERBAL ODOR COUNTERACTANT HARMONY AIR FRESHENER TAKE DOWN CHERRY TAKE DOWN CHERRY TAKE DOWN GREEN APPLE TAKE DOWN GREEN APPLE TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN TAKE DOWN FRESH & CLEAN LIQUID TRAP SHOOTER	1 GAL QT 1 GAL	4 12 4 12 4 12 4 12 4 DR 4 PL	23.67 6.39 22.9 22.43 8.75 23.91 8.76 23.67 8.72 23.33 22.65 19.66 19.21	94.68 76.68 91.6 89.72 105 95.64 105.12 94.68 104.64 93.32 1245.53 78.64	3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023 3/1/2023

	LIQUID ENZYME II LIQUID ENZYME II	5 GAL 55 GAL	PL DR	12.98 12.75	64.89 701.37	, ,
HIL0047015	LIQUID ENZYME II	15 GAL	EA		191.3	3/1/2023
	I-FORCE (Industrial)					
HIL0013706	I-FORCE KA INDUSTRIAL DEGREASER	1 GAL	4	18.33	73.32	3/1/2023
HIL0013707	I-FORCE KA INDUSTRIAL DEGREASER	5 GAL	PL	17.82	89.08	3/1/2023
HIL0013709	I-FORCE KA INDUSTRIAL DEGREASER	55 GAL	N DR	14.85	816.81	3/1/2023
HIL0013711	I-FORCE KA INDUSTRIAL DEGREASER	275 GAL	N TOT	14.34	3943.47	3/1/2023
HIL0013728	I-FORCE KA INDUSTRIAL DEGREASER	30 GAL	N EA		501.24	3/1/2023
HIL0045407	DEFCON 2-R SUPER CONC INDUST DEGREASER	5 GAL	N PL	56.82	284.11	3/1/2023
HIL0045447	DEFCON-2D SUPER CON 2.5 GAL 2 Per CS	5 GAL	CS		231.88	3/1/2023
HIL0045509	DEFCON 2 INDUSTRIAL DEGREASER	55 GAL	N DR	10.33	568.29	3/1/2023
HIL0047406	I-FORCE D.M.B. DESCALER METAL BRIGHTENER	1 GAL	4	23.5	94	3/1/2023
HIL0047409	I-FORCE D.M.B. DESCALER METAL BRIGHTENER	55 GAL	N DR	25.3	1391.27	3/1/2023
HIL0047809	I-FORCE GS-200	55 GAL	N DR	17.1	940.74	3/1/2023
HIL0047907	I-FORCE CV-PRO	5 GAL	PL	11.35	56.75	3/1/2023
HIL0047909	I-FORCE CV-PRO	55 GAL	N DR	12.33	678.24	3/1/2023
HIL0048106	I-FORCE L.F.D.	1 GAL	4	13.73	54.92	3/1/2023
HIL0048109	I-FORCE L.F.D.	55 GAL	N DR	12.13	666.9	3/1/2023
HIL0048306	I-FORCE I.D. 200	1 GAL	4	14.53	58.12	3/1/2023
HIL0048307	I-FORCE I.D. 200	5 GAL	PL	13.99	69.95	3/1/2023
HIL0048309	I-FORCE I.D. 200	55 GAL	N DR	12.29	676.17	3/1/2023
HIL0048311	I-FORCE I.D. 200	275 GAL	N EA		3328.76	3/1/2023
HIL0048328	I-FORCE I.D. 200	30 GAL	N EA		368.83	3/1/2023
HIL0048706	I FORCE SM 1 DEGREASER	1 GAL	4	18.25	73	3/1/2023
HIL0048709	I FORCE SM 1 DEGREASER	55 GAL	DR	15.13	832	3/1/2023
HIL0048772	I FORCE SM 1 DEGREASER	5 GAL	PL	17.78	88.9	3/1/2023
HIL99724	DEFCON 2D DISPENSING KIT		N	142.86	142.86	3/1/2023
	READY-TO-USE					
HIL0100204	GLASS & PLASTIC CLEANER	QT	12	3.52	42.24	3/1/2023
HIL0100404	QUICK & CLEAN LUSTRE-MIST FURN POLISH	QT	N 12	6.34	76.08	3/1/2023
HIL0100407	QUICK & CLEAN LUSTRE-MIST FURN POLISH	5 GAL	N PL	19.37	96.84	3/1/2023
HIL0100504	QUICK & CLEAN CITRUS-SCRUB	QT	N 12	7.24	86.88	3/1/2023

HIL0100604	KA INDUSTRIAL DEGREASER RTU	QT		12	4.34	52.08	3/1/2023
	KA INDUSTRIAL DEGREASER RTU	55 GAL	DR		12.92	710.36	3/1/2023
HIL0100804	OVEN & GRILL CLEANER	QT		12	4.94	59.28	3/1/2023
	AFRC ACID-FREE RESTROOM CLEANER	QT		12	2.92	35.04	3/1/2023
HIL0101104	QUICK & CLEAN QT-TB	QT		12	4.26	51.12	3/1/2023
HIL0101109	QUICK & CLEAN QT-TB	55 GAL		DR	11.57	636.38	3/1/2023
	QUICK & CLEAN COUNTRY GARDN AIR FRESHNER	QT	N	12	4.27	51.24	3/1/2023
HIL0101304	QUICK & CLEAN VANILLA AIR FRESHENER	QT	N	12	5.91	70.92	3/1/2023
HIL0101404	LIQUID ENZYME II	QT		12	4.74	56.88	3/1/2023
HIL0101504	HIL-GLO	QT		12	6.43	77.16	3/1/2023
HIL0101604	SUPER HIL-TONE	QT		12	9.49	113.88	3/1/2023
HIL0101704	QUICK & CLEAN FLORAL AIR FRESHENER	QT	Ν	12	5.7	68.4	3/1/2023
HIL0101804	SPRAY CLEAN HD	QT		12	4.37	52.44	3/1/2023
HIL0101904	GERMICIDAL FOAMING CLEANER	QT		12	5.49	65.88	3/1/2023
HIL0101928	GERMICIDAL FOAMING CLEANER	30 GAL		EA		559.89	3/1/2023
HIL0102204	BASEBOARD STRIPPER GEL	QT		12	7.84	94.08	3/1/2023
HIL0102304	SUPROX READY TO USE QT	QT	N	12	4.69	56.28	3/1/2023
	HAND SOAP						
HIL0036403	SOAP AFFINITY HAIR & BODY 1250ML 4CS	4 CS		CS		41.26	3/1/2023
HIL0036406	SPORT AND SPA HAIR AND BODY WASH	1 GAL	N	4	23.44	93.76	3/1/2023
HIL0036412	SOAP LIQUID HAIR AND BODY WASH 2L 4CS	2.11 GAL		CS		61.37	
HIL0037706	GREEN SELECT LIQUID HAND SOAP	1 GAL	Ν	4	13.66	54.64	3/1/2023
HIL0039002	SOAP AFFINITY TF GS FOAM 1L 3CS	0.79 CS				54.2	-, -,
	SOAP AFFINITY GS FOAMING HAND 1250ML 4CS	4 CS		CS		48.86	3/1/2023
	GREEN SELECT FOAMING HAND SOAP	1 GAL	N	4	13.63	54.52	, ,
	GREEN SELECT FOAMING HAND SOAP 14 OZ	cs	N	6		54.84	3/1/2023
	SOAP AFFINITY HAIR&BODY FOAM 1250ML 4CS	4 CS		CS		53.58	3/1/2023
HIL0039106	FOAMING HAIR AND BODY WASH	1 GAL	N	4	20.64	82.56	3/1/2023
	SOAP FOAMING HAIR AND BODY 2L 4CS	2.11 GAL		CS		69.66	3/1/2023
	FOAMING CARIBBEAN SENSATION HAND SOAP	1 GAL	N	4	13.97	55.88	3/1/2023
	SOAP AFFINITY TF MANDRN CRAN PREM 1L 3CS	0.79 CS				60.56	-, -,
	SOAP AFFINITY FOAM MAND CRAN 1250ML 4CS	4 CS		CS		54.62	
	MANDARIN-CRANBERRY PREMIUM FOAM SOAP	1 GAL	N		22.81	91.24	
	SOAP FOAM MANDARIN CRANBERRY 2LTR 4/CS	2.11 GAL		CS		71.02	, ,
HIL0039482	MANDARIN-CRANBERRY PREM FOAM SOAP 14 OZ	CS	Ν	6		54.84	3/1/2023

HIL0039606	SOAP HAND PINK PEARL	1 GAL	N	4 10.5	42	3/1/2023
HIL0039609	SOAP HAND PINK PEARL	55 GAL	N DR	9.65	530.5	3/1/2023
HIL0039706	WHITE PEARL HAND SOAP	1 GAL	N	4 11.17	44.68	3/1/2023
HIL0039709	WHITE PEARL HAND SOAP	55 GAL	N DR	10.32	567.79	3/1/2023
HIL0039802	SOAP AFFINITY TF CUCMBR MELON FM 1L 3CS	0.79 CS			60.56	3/1/2023
HIL0039803	SOAP AFFINITY FOAM CUC MELON 1250ML 4CS	4 CS	CS		54.62	-, -, -
HIL0039806	CUCUMBER-MELON PREMIUM FOAM SOAP	1 GAL	N	4 22.19	88.76	3/1/2023
HIL0039812	SOAP FOAM CUCUMBER MELON 2LTR 4/CS	2.11 GAL	CS		71.02	3/1/2023
HIL0039882	CUCUMBER-MELON PREM FOAM SOAP 14 OZ	CS	N	6	54.84	3/1/2023
HIL0040203	SANITIZER AFFINITY IHS GEL 1000ML 4CS	4 CS	CS		55.5	3/1/2023
HIL0040302	SANITIZ AFFINITY TF ALC FREE FOAM 1L 3CS	0.79 CS			55.14	-, -,
HIL0040303	SANITIZER AFFINITY IHS ALC FR 1250ML 4CS	4 CS	CS		49.77	3/1/2023
HIL0040382	FOAMING ALCOH FREE INST HAND SANI 14 OZ	CS	N	6	54.84	3/1/2023
HIL0040403	SOAP AFFINITY PINK LOTION 1250ML 4 CS	4 CS	CS		39.19	, ,
HIL0040406	SOAP PINK LOTION HAND	1 GAL	N	4 15.43	61.72	3/1/2023
HIL0040802	SOAP AFFINITY TF ANTIMIC FM CIT 3/1000ML	0.79 CS			57.41	3/1/2023
HIL0040803	SOAP AFFINITY CIT ANTIMIC FM 1250ML 4CS	4 CS	CS		57.41	3/1/2023
HIL0040806	SOAP ANTIMICROBIAL FOAM CITRUS	1 GAL	N	4 19.67	78.68	3/1/2023
HIL0040812	SOAP FOAM ANTIMIC CITRUS FRESH 2LTR 4/C	2.11 GAL	CS		69.57	3/1/2023
HIL0040882	SOAP CIT ANTIMIC FOAM 14 OZ 6/CS	CS	N	6	52.26	, ,
HIL0041003	SANITIZER AFFINITY FOAMING 1000ML 4CS	4 CS	CS		74.64	3/1/2023
HIL0041006	FOAMING INSTANT HAND SANITIZER GAL CS/4	4 GAL	N CS		121.73	3/1/2023
HIL0041082	FOAMING INSTANT HAND SANITIZER 14 OZ	CS	N	6	54.84	
HIL0041102	SOAP AFFINITY TF PREMIUM GREEN 1L 3CS	0.79 CS			60.56	3/1/2023
HIL0041103	SOAP AFFINITY GREEN PREM FOAM 1250ML 4CS	4 CS	CS			3/1/2023
HIL0041112	SOAP FOAM PREMIUM GREEN 2LTR 4/CS	2.11 GAL	CS		71.02	3/1/2023
HIL0047604	TILE & GROUT SEAL	QT	1	2 15.54	186.48	3/1/2023
HIL0047606	TILE & GROUT SEAL	1 GAL		4 54.4		3/1/2023
HIL0049706	REPEL	1 GAL	N	4 35.1	140.4	3/1/2023
HIL0049709	REPEL	55 GAL	N DR	34.23	1882.41	3/1/2023
HIL0049733	REPEL 2.5 GAL	2.5 GAL	N EA		89.16	3/1/2023
	SPECIALTY					
HIL00090	ZIZ-O PASTE CLEANER 1 LB TUB 24CS		N 2	4 5.36	128.64	3/1/2023
HIL0021306	HIL-MIST DUST MOP DRESSING	1 GAL	N	4 18.46		3/1/2023
HIL0021506	SUPER HIL-TONE	1 GAL		4 30.04	120.16	3/1/2023

HIL0021507	SUPER HIL-TONE	5 GAL	PL	29.58	147.91	3/1/2023
HIL0021509	SUPER HIL-TONE	55 GAL	DR	29.36	1614.62	3/1/2023
HIL0021904	NUTRA-RINSE	QT	12	6.91	82.92	3/1/2023
HIL0021906	NUTRA-RINSE	1 GAL	4	20.55	82.2	3/1/2023
HIL0021907	NUTRA-RINSE	5 GAL	PL	20.08	100.38	3/1/2023
HIL0021909	NUTRA-RINSE	55 GAL	DR	19.85	1091.71	3/1/2023
HIL0029906	CLEAN SCRUB	1 GAL	4	19.44	77.76	3/1/2023
HIL0029909	CLEAN SCRUB	55 GAL	DR	18.75	1031.44	3/1/2023
HIL0037406	HAND DISH WASH LIQUID	1 GAL	4	16.18	64.72	3/1/2023
HIL0037407	HAND DISH WASH LIQUID	5 GAL	PL	15.67	78.35	3/1/2023
HIL0037409	HAND DISH WASH LIQUID	55 GAL	DR	15.4	847.12	3/1/2023
HIL0045906	LAUNDRY DETERGENT	1 GAL	N 4	26.53	106.12	3/1/2023
HIL0047206	OVEN AND GRILL CLEANER	4 GAL	CS		44.54	3/1/2023
HIL0047209	OVEN AND GRILL CLEANER	55 GAL	DR	10.45	574.84	3/1/2023
HIL0093485	LAUNDRY SPOTTER 6/32OZ	cs	6		97.5	3/1/2023
	CONNECT					
HIL99608	CONNECT KIT		N	26.5	26.5	3/1/2023
HIL99611	CONNECT FOAMER ATTACHMENT		N	2.14	2.14	3/1/2023
	CLEANING COMPANION					
HIL0070022	CC CARPET PRE-SPRAY 1/2 GAL	0.5 GAL	6	16.35	98.1	3/1/2023
HIL0070222	CC MARINER 1/2 GAL	0.5 GAL	6	15.37	92.22	3/1/2023
HIL0070322	CC NON-ACID REST DISINF/CLNR 1/2 GAL	0.5 GAL	6	13.84	83.04	3/1/2023
HIL0070422	CC SUPROX 1/2 GAL	0.5 GAL	N 6	15.69	94.14	3/1/2023
HIL0070522	CC RE-JUV-NAL 1/2 GAL	0.5 GAL	6	13.5	81	3/1/2023
HIL0070622	CC TOP CLEAN 1/2 GAL	0.5 GAL	6	11.97	71.82	3/1/2023
HIL0070822	CC GREEN SELECT BATHROOM CLNR 1/2 GAL	0.5 GAL	6	14.47	86.82	3/1/2023
HIL0071022	CC SM-1 DEGREASER 1/2 GAL	0.5 GAL	6	12.08	72.48	3/1/2023
HIL0071222	CC GREEN SELECT GLASS CLEANER 1/2 GAL	0.5 GAL	6	14.63	87.78	3/1/2023
HIL0071422	CC SUPROX-D 1/2 GAL	0.5 GAL	6	21.29	127.74	, ,
HIL0071522	CC NUTRA-RINSE	0.5 GAL	6	19.61	117.66	
HIL99240	C3XP RECOVERY SYSTEM WITH TOOLS		N	461.21	461.21	3/1/2023

ATTACHMENT IV to Contract No. E00048 Portion Pac Cost Sheet

ESU Contract #00048 Cost Sheet

	ESO CONTract #00048 Cost Sneet		
		Cost per Case	Pouches per Case
	ScrubPac® All Purpose Cleaner		
102®	Each Pac® brand pouch makes 2 gallons or 1 quart of all purpose cleaning solution. Use with No. 320100 Spray Bottle.	\$572.00	528
104™	Each Pac® brand pouch makes 4 gallons of all purpose cleaning solution or 1 quart of solution for heavy duty cleaning.	\$521.00	288
	Germicidal Cleaner		
201™	Each Pac® brand pouch makes 1 gallon of quaternary disinfectant/detergent solution.	\$292.00	528
201	Each Pac® brand pouch makes 2 gallons of quaternary disinfectant/detergent solution.	\$299.00	288
202™	Each Pac® brand pouch makes 4 gallons of quaternary disinfectant/detergent solution.	\$260.00	160
264™	Each Pac® brand pouch makes 7 gallons of quaternary disinfectant/detergent solution.	\$280.00	96
		4 200100	
	Germicidal CleanerQ		
232™	Each Pac® brand pouch makes 1 quart of quaternary disinfectant/detergent solution. Use with 320200 Spray Bottle.	\$366.00	528
	StripPac®		
314™	Each Pac® brand pouch makes 4 gallons of solution for removing floor finish.	\$549.00	104
40.479	NeutraPac® Each Pac® brand pouch makes 4 gallons of solution for conditioning floors after stripping. Ideal for removal of snow melt compounds.	\$406.00	432
404™	Each Pac* brand pouch makes 4 gallons of solution for conditioning floors after stripping, ideal for removal of show melt compounds.	\$406.00	432
	BowlPac®		
532™	Each Pac® brand pouch makes 1 quart of non-corrosive Bathroom Cleaner. Use with 320500 Applicator Bottle.	\$439.00	312
		,	
	LaundryPac®		
940he™	Use 1 Pac® brand pouch per load in standard or high efficiency washer.	\$329.00	432
	SteamPac®		
1203™	Each Pac® brand pouch makes 3 gallons of extraction detergent with built-in defoamer.	\$412.00	288
1207™	Each Pac® brand pouch makes 7 gallons of extraction detergent with built-in defoamer.	\$412.00	144
1210™	Each Pac® brand pouch makes 10 gallons of extraction detergent with built-in defoamer.	\$420.00	120
	GlassPac®		
1432™	Each Pac® brand pouch makes 1 quart of Glass Cleaner. Use with 321400 Spray Bottle.	\$420.00	528
2.02	24.1.0.000000000000000000000000000000000	Ų 120100	020
	AirFreshPac®		
1732™	Each Pac® brand pouch makes 1 quart of Air Freshener/Odor Counteractant. Use with 321700 Spray Bottle.	\$498.00	480
	MopPacLite®		
1802®	Each Pac® brand pouch makes 2 gallons of pH neutral, rinse-free solution. Leaves no residue.	\$498.00	720
1804™	Each Pac® brand pouch makes 4 gallons of pH neutral, rinse-free solution. Leaves no residue.	\$457.00	432

ATTACHMENT IV to Contract No. E00048 (cont.) Portion Pac Cost Sheet

2202™	BacPac® Each Pac® brand pouch makes 2 gallons of mopping detergent to eliminate the daily acc	cumulation of organi	c wastes on floors and in drains. #	\$649.00	240			
	Auto Scrubber							
110™	Each Pac® brand pouch makes 10 gallons of heavy duty scrubbing solution.			\$366.00	216			
410™								
710™	PowerPac® Each Pac® brand pouch makes 10 gallons of industrial strength detergent for	-		\$309.00 \$370.00	192 96			
1810™	MopPacLite® Each Pac® brand pouch makes 10 gallons of pH neutral, rinse-free solution			\$359.00	240			
2110™	BritePac® Each Pac® brand pouch makes 10 gallons of Neutral Cleaner/Acrylic Brightener			\$374.00	120			
2110	biliterac - Each Pac - braing podch makes 10 gallons of Neutral Cleaner/Act yild brightener	:1.		\$374.00	120			
	Floor Finish							
2464™	Janus® Gold Floor Finish Each Pac® brand pouch contains 1/2 Gallon of Ready-To-Use Ac	crylic Floor Finish. M	aintain with burnisher (up to 1500	\$200.00	12			
2564™	Janus [®] Silver HSB Floor Finish Each Pac [®] brand pouch contains 1/2 Gallon of Ready-To-L	Use Urethane Enhan	ced Floor Finish. Maintain with hig	\$210.00	12			
	DepotPac Detergent Refill System							
	Each Pac® brand pouch makes five (5) gallons of solution. Ideal for centralized filling of s	spray bottles. Depot	Pac® products are packed 6 cartons	per case.				
105™	DepotPac® All Purpose Cleaner Use with 320100 Spray Bottle.	, , , , , , , , , , , , , , , , , , , ,	,	\$627.00	36			
205™N	DepotPac® Germicidal Cleaner Use with 320200 Spray Bottle.			\$305.00	120			
505™	DepotPac® Bathroom Cleaner Use with 320500 Applicator Bottle.			\$442.00	18			
1405™	DepotPac® Glass Cleaner Use with 321400 Spray Bottle.			\$405.00	36			
1705™	DepotPac® Air Freshener Use with 321700 Spray Bottle.			\$549.00	36			
4.500.0		0.510	4.07.00					
	16 oz. Germicidal Cleaner Bottle/Sprayer	96/Case	\$187.00					
	32 oz. ScrubPac® Bottle/Sprayer	84/Case	\$203.00					
320200 32 oz. Germicidal Cleaner Bottle/Sprayer 84/Case \$203.00 320500 32 oz. BowlPac® Bottle/Cap 84/Case \$203.00								
321400								
321700								
322202								
52064								
	DepotPac® System 5 gallon Dispenser	6/Case	\$115.00					
	DistributionTray	12/Case	\$73.00					
	Inspection Mirror with Light	12/Carton	\$100.00					
	Pac®Cutter with Tie	25/Box	\$41.00					
	3 Point-of-Use Mixing Hose	12/Carton	\$94.00					
) CarryPac® Hip Pack	Each	\$18.00					
	ClipPac® Closer for Finish	12/ctn	\$14.00					
	Simplify Your Cleaning Kit	Each	\$10.00					
	DepotPac® Bi-Lingual Poster	Each	\$5.00					
L000127	RYG School Poster	Each	\$5.00					
L000134	RYG Mixing Poster	Each	\$5.00					
L000135	PPQ Mixing Poster	Each	\$5.00					
	Custodial Recognition Items							
Contact (is for information on how you can utilize this program to motivate and recognize custodia	ial personnel.						
J045900	Framed Janus Lithograph	Each	\$115.00					
J049501	Cloisonne Lapel Pin	Each	\$5.00					
J049503	49503 Ceramic Mug Each \$12.00							
J049506	J049506 Brass Key Keeper Each \$6.00							